word problems

Solve.
1) Billy has six more pears than Jackie. Jackie has forty-two pears.

How many pears does Billy have?

2) _ Sixty-six plums were in the basket. Forty-nine are red and the rest
are green. How many plums are green?

3) Michele has twenty-three more plums than Janet. Janet has forty-

nine plums. How many plums does Michele have?

4) _ Eight red peaches and thirty-two green peaches are in the basket.
How many peaches are in the basket?

5) Thirty red oranges and nineteen green oranges are in the basket.

How many oranges are in the basket?

6) Steven has five apples and Billy has twenty-three apples. How

many apples do Steven and Billy have together?

7) __ Thirty-one peach was in the basket. More peaches were added to
the basket. Now there are forty-four peaches. How many peaches
were added to the basket?
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8) _ Sandra has eleven apples and Michele has twenty-nine apples.
How many apples do Sandra and Michele have together?

9) _ Some oranges were in the basket. Twelve more oranges were
added to the basket. Now there are thirty-four oranges. How many
oranges were in the basket before more oranges were added?

10)  Some marbles were in the basket. Eleven more marbles were
added to the basket. Now there are twenty-four marbles. How
many marbles were in the basket before more marbles were
added?

1) Thirty-nine apples are in the basket. Forty more apples are put in
the basket. How many apples are in the basket now?

12)  Some plums were in the basket. Forty-three more plums were
added to the basket. Now there are fifty-six plums. How many
plums were in the basket before more plums were added?

13) Seventy-four oranges were in the basket. Twenty-eight are red

and the rest are green. How many oranges are green?

14)  Jake has four plums and Audrey has forty-four plums. How many
plums do Jake and Audrey have together?
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15) Jackie has forty plums and Audrey has nineteen plums. How

many plums do Jackie and Audrey have together?

16)  Adam has forty-four more peaches than Audrey. Audrey has
twenty-five peaches. How many peaches does Adam have?

17)  Forty-eight peaches were in the basket. Eight are red and the rest
are green. How many peaches are green?

18) Sixty-five balls were in the basket. Forty are red and the rest are

green. How many balls are green?

19)  Fifty-one plum was in the basket. Twenty-one is red and the rest
are green. How many plums are green?

20)  Nineteen balls were in the basket. More balls were added to the
basket. Now there are sixty-one ball. How many balls were added
to the basket?

Solve.

21) _ Nineteen marbles are in the basket. Twelve marbles are taken out
of the basket. How many marbles are in the basket now?
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22)  Twenty-three balls were in the basket. Some of the balls were

removed from the basket. Now there are ten balls. How many
balls were removed from the basket?

23)  Donald has zero fewer peaches than Amy. Amy has three
peaches. How many peaches does Donald have?

24)  Some marbles were in the basket. Four marbles were taken from
the basket. Now there are seven marbles. How many marbles
were in the basket before some of the marbles were taken?

25)  Marcie has seven fewer balls than Billy. Billy has thirty-seven
balls. How many balls does Marcie have?

26)  Some pears were in the basket. Nineteen pears were taken from
the basket. Now there are six pears. How many pears were in the
basket before some of the pears were taken?

27) Forty-eight apples were in the basket. Some of the apples were

removed from the basket. Now there are zero apples. How many
apples were removed from the basket?

28) Amy has three fewer plums than Brian. Brian has thirty-five plums.

How many plums does Amy have?
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29)

30)

31)

32)

33)

34)

35)

Some oranges were in the basket. Eight oranges were taken from
the basket. Now there are eleven oranges. How many oranges
were in the basket before some of the oranges were taken?

Sandra has twenty-six marbles. Donald has thirty-four marbles.
How many more marbles does Donald have than Sandra?

Some balls were in the basket. Eight balls were taken from the
basket. Now there are thirty-eight balls. How many balls were in
the basket before some of the balls were taken?

____Thirty-eight pears are in the basket. Twenty-seven are red and the

rest are green. How many pears are green?

Twenty-one ball is in the basket. Eighteen balls are taken out of
the basket. How many balls are in the basket now?

Two plums were in the basket. Some of the plums were removed
from the basket. Now there are zero plums. How many plums
were removed from the basket?

Sharon has twenty zero apples. Allan has twenty-three apples.
How many more apples does Allan have than Sharon?
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36)  Donald has thirty zero fewer balls than Adam. Adam has forty
zero balls. How many balls does Donald have?

37) _ Marcie has nineteen balls. Jake has twenty-six balls. How many
more balls does Jake have than Marcie?

38)  Some plums were in the basket. Fourteen plums were taken from
the basket. Now there are zero plums. How many plums were in
the basket before some of the plums were taken?

39) Marcie has seventeen fewer oranges than Allan. Allan has twenty

zero oranges. How many oranges does Marcie have?

40)  Thirty-three pears are in the basket. Three pears are taken out of
the basket. How many pears are in the basket now?
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